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CERTIFICATE IN POULTRY FARMING (CPF) 

Term-End Examination 

00'.7 -S 
December, 2018 

OLPI-001 : POULTRY HOUSING AND 
MANAGEMENT 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 
equal marks. 

1. What are the different favourable and 
unfavourable aspects to be considered before 
starting a poultry farm ? Explain briefly the 
basic requirements for a poultry house. 	4+6=10 

2. Why are circular drinkers most common in 
Broiler farms ? Explain the features of circular 
drinkers. 	 3+7=10 

3. Differentiate between hatching and table eggs. 
Explain the different steps in selection and care 
of hatching eggs. 	 4+6=10 
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4. Write short notes on any two of the following : 2 x5= 10 

(a) Preparations for arrival of chicks 

(b) Summer management of poultry birds 

(c) Bio-security measures for a poultry farm 

5. Discuss housing, management, sexing and 

healthcare of Emu birds. 	 4x2 —
1 

=10 
2 

6. What are the advantages of rearing quails ? 

Write in brief about management of quails. 	4+6=10 

7. (a) What do you mean by value addition ? 

Write the advantages of value addition of 

poultry meat. 2+3=5 

(b) Write briefly about packing and 

transportation of eggs. 2 1  +2 1  =5 
2 2 

8. Discuss the various factors affecting cost of 

broiler production. Write any five general 

principles to reduce cost of production. 7 
2  -
1- +2 

2 
—
1 

=10 
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